125 EXC SIX-DAYS 2008 <2008><EU><7103H2>

EXHAUST SYSTEM
5037
@ @
ég’ ' "'@;3 -0
2) @
)
@ ®
@;kz- é ég ,D 13 \
)
>
f DA
®O@OBB®
Pos Part Number Description Additional Text Quantity
7 SXS07125501 FACTORY PIPE 125 SXS 07 1.00
8 0770440030 O-RING 44,00X3,00 VITON ONLY FOR 250 2.00
9 50305016000 TEN.SPRING L=62MM EY.MOVEABLE 2.00
10 54605057000 RUBBER SLEEVE D=21MM/23MM '93 125/200 SX, 125 EXC 1.00
12 50305012000 Silent block for exhaust pipe 2.00
13* 0024060156 HH collar screw M6x15 TX30 ONLY USA 2.00
14* 0024060106 HH COLLAR SCREW M6X10 TX30 2.00
16 54603048100 clip nut M6 2.00
18 50305081300 MAIN SILENCER 125 SIX DAYS 05 1.00
20* 0025060356 HH collar screw M6x35 TX30 1.00
21* 0025060306 HH collar screw M6x30 TX30 1.00
22 0137060003 spring washer DIN 137 B - 6 2.00
23* 77305069000 BUSHING 7.5x12x28x7.6 07 3.00
24* 59405169000 BUSHING SIL.-SMR REAR 2004 1.00
25 54605068000 EXHAUST BRACKET RUBBER BLACK 2.00
99 00050000810 EXHAUST HARDWARE KIT 05-15 0.00




* = New part



